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1. In the market for magazines, the "income effect” means that
A) magazines are usually purchased by people with higher than average incomes.
B) a decrease in the price of a substitute product like books will make magaiine readers feel a little poorer
than they were before. '
C) an increase in the price of magazines will reduce the total purchasing power of magazine readers,
making them able to afford fewer magazines.
D) an increase in the price of magazines will raise the relative price of magazines to books, causing
magazine readers to read more books and fewer magazines.
2. The table shows the exchange rates between various currencies and the U.S. dollar. Between 2015

and 2016, the U.S. dollar against the Euro and against the Japanese yen.
Nov. 2015 exchange rate Nov. 2016 exchange rate
Currency
(per U.S. dollar) (per U.S. dollar)
Euro 0.7466 0.8009
Japanese yen 100.2 114.61
Canadian dollar 1.0436 1.1331

A) depreciated; depreciated

B) appreciated; appreciated

C) appreciated; depreciated

D) depreciated; appreciated
3. Suppose there are 100 million in the labor force, and 6 million unemployed people. During the next
month, 200,000 people lose their jobs and 300,000 find jobs. The new total of employed persons is

and the new unemployment rate is

A) 100.1 million; 5.8 percent

B) 100 million; 6.1 percent

C) 94.1 million; 5.9 percent

D) 93.9 million; 6.1 percent
4. Sam's Scarves has 2 knitting machines and employs 2 people. They produce 15 scarves a day. If the
firm hires an additional person, the 3 workers can produce 19 scarves a day other things remaining the
same. The market for scarves is perfectly competitive and the price of a scarf is $20. The value of
marginal product of the third worker is

A) $80

B) $300

C) $380

D) 4 scarves
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5. In the figure, the curve labeled MCL is the marginal cost of labor curve and is used in a
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A) competitive situation in which individual firms cannot influence the wage rate they must pay.

B) competitive situation in which skill differentials create a difference between what a firm must pay labor
versus the wage at which households are willing to supply labor.

C) monopsony situation in which the firm can influence wages by how much labor it hires, so that the wage
rate received by workers is Iess than the marginal cost of labor.

D) monopsony situation in which the firm can influence wages by how much labor it hires, so that the wage |.
rate received by workers is greater than the marginal cost of labor.

6. Slowdonia's current growth rate of real GDP per person is 2 percent a year. How long will it take to
double real GDP per person?

A) half a year

-B) approximately 10 years

C) 28.6 years

D) 35 years

7. Which answer below CORRECTLY describes the relationship between the demand for labor curve
and the value of marginal product curve?

A) The curves intersect to determine the equilibrium quantity of labor.

B) The value of marginal product curve lies to the right and above the demand for labor curve.

C) The curves are the same.

D) The value of marginal product curve lies to the left of the demand for labor curve.
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8. A movie shown on a pay-per-view cable station is an example of
A) an excludable and rival good.
B) a nonexcludable and rival good.
C) an excludable and nonrival good.
D) a nonexcludable and nonrival good.

9. According to the new Keynesian cycle theory of the business cycle, which of the foliowing can trigger
a business cycle expansion?

L. an unexpected increase in the quantity of money
IL an expected increase in the quantity of money
I11. an expected increase in government expenditure

A)Ionly

B) II and III

C) 1,11 and IIT

D) None of the three will trigger an expansion.

10. In the figure, suppose the demand for dollars temporarily increases so that the demand curve shifts
to D1. To maintain the target exchange rate, the Fed
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A) can sell dollars. .
B) can buy dollars.
C) must violate interest rate parity but not purchasing power parity.

D) cannot maintain the target exchange rate.
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1.

(1) How does the price faced by a profit-maximizing competitive firm compare to its marginal cost? Explain
(54

(2) When does a profit-maximizing competitive firm decide to shut down? When does a profit-maximizing
competitive firm decide to exit a market? (54)

2. Explain how an increase in the wage can potentially decrease the amount that a person wants to work.
(1049

3. Suppose that Americans decided to spend a smaller fraction of their incomes. What would be the effect on
saving, investment, interest rates, the real exchange rate, and the frade balance? (104)
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